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General Instructions to Candidates:

* There is a ‘Cool-off time’ of 15 minutes in addition to
the writing time.

* Use the ‘Cool-off time’ to get familiar with questions
and to plan your answers.

* Read questions carefully before answering.

* Read the instructions carefully.

* Calculations, figures and graphs should be shown in
the answer sheet itself.

* Malayalam version of the questions is also provided.
* Give equations wherever necessary.
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Answer any ten questions from 1 to 12 . Each carries
1 score.

(10x1=10)

1. Which of the following is not a feature of capitalist

economy?

a) Private ownership of the means of production
b) Profit motive

c¢) Planning mechanism

d) Price mechanism

2. The Wealth of Nations, the famous Economics
book was written by

a) Alfred Marshall b) Adam Smith
c) J.M. Keynes d) None of these

3. M1+Net saving deposits of Commercial Banks is

a) M2 b) M3
c) M4 d) None of these

4. Which one of the following is related with the
micro economics?

a) Poverty rate in India

b) Maruti Car’s price fixation
¢) National income estimation
d) Unemployment rate in India

5. The famous book “General Theory of Employment,

Interest and Money” was written by

a) Adam Smith b) Paul A. Samuelson
c) J.M. Keynes d) David Ricardo

6. The choice of technology is associated with

a) What to produce?

b) How to produce?

¢) For whom to produce?
d) None of these
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7. Financial year in India

a) 1 January to 31 December
b) 1 July to 30 June

c) 1 April to 31 March

d) 1 October to 30 September

8. Budget in which government expenditure is
greater than government revenue

a) Surplus budget b) Current account deficit
c) Deficitbudget  d) Balanced budget

9. Which of the following causes rightward shift of
the supply curve

a) Rise in input price

b) Technological progress
¢) Imposition of unit tax
d) None of these

10. Which of the following is not included in the
current Account of Balance of payment

a) Trade in goods

b) Investment

¢) Trade in Services
d) Transfer payments

11. In India, the custodian of foreign exchange
reserve is......

a) State Bank of India

b) Canara Bank

¢) Reserve Bank of India
d) Indian Bank

12. Which one of the following is a stock variables?

a) wealth
¢) income

b) investment
d) GDP

Answer any five questions from 13 to 18 . Each
carries 2 scores.
(5x2=10)

13. Classity the following into microeconomics and
macroeconomics:

(Economic Growth, Individual Demand, General
Price Level, Profit of a Firm)

14. Identify any three features of indifference curve.
15. Distinguish the concepts M1, M2, M3

16. Distinguish between Public goods and Private
goods. Write an example of each

17. Prepare a short note on the concept of speculative
demand for money with the help of a diagram

18. Distinguish between ex-ante consumption and
ex-post consumption.

Answer any six questions from 19 to 25 . Each carries
3 scores.
(6x3=18)
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19.

Firms Household

a) Complete the given diagram.
b) Mark the real flow and money flow.

20. List out the tools available to the Reserve Bank of
India for controlling money supply. Explain.

21. Draw production possibility curve and explain it.

22. Distinguish the concepts

a) Transaction motive of demand for money
b) Speculative motive of demand for money?

23. Distinguish between stock and flow variables.
Ilustrate with examples

24. Categorize the following items into revenue
receipts and capital receipts of government budget:

a) Loans from the general

b) Tax receipts

c) Interest receipts of loans by the government
d) Borrowing from RBI

e) Interest receipts of loans by the government

25. Define the concept of GDP deflater? Calculate the
GDP deflater from t following data, and analyse it.

a) In 2015, the GDP at current price is Rs. 8500/-
b) In 2015, the GDP at constant price is Rs. 7000/-

Answer any four questions from 26 to 30 . Each
carries 4 scores.
(4x4=16)

26. Distinguish between the movement along the
demand curve and the shifts in demand curve with
the suitable diagram

27. What do you mean by consumer equilibrium?
(Optimal choice of the consumer). Briefly explain
with help of a diagram

28. Complete the schedule given below:

Firms Household
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REILm OMVIDHHSIGRIAB0 oM BTH3H::

a) ©ald® QIWHUI

b) M&®1 V1@ @03
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Marginal Product Marginal Product
Average Product Average Product

29. Distinguish between balance of payment and
balance of trade.

30. Price Ceiling and Price Floor are two methods of
government intervention in the market. Analyse them
diagrammatically.

29. LIV Bl GalOHQAF, MINLINBIY 3dan” BSA”
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Answer any two questions from 31 to 33 . Each
carries 5 scores.
(2x5=10)

31. A firm that maximizes profit under perfect
competition . Which are the features of perfect
competitive markets

32. The aggregate demand function AD = 100+ 0.75Y

a) Calculate equilibrium income

b) If autonomous expenditure increased to 150
from 100. Calculate the change in equilibrium
income

33. Explain the concept of excess demand and excess
supply with the help of the diagram.

Answer any two questions from 34 to 36. Each
carries 8 scores.
(2x8=16)

34,

a) Explain the product method and expenditure
method of calculating gross domestic product.
b) Discuss any two limitations of using gross
domestic product as an index of welfare of a
country.

35. Ms. Sudha wants to consume apple and oranges.
Her income is 400. The price of apple (Good 1) is 80/
kg. and the price of orange is 50/kg. On the basis of
this data

a) Draw the budget line.

b) Write the equation of budget line.

¢) How much kg of apple that Ms. Sudha can
consume if she spend the whole income on  that
good alone?

d) What is the slope of the budget line?

e) Draw the new budget line in the same graph if
her income falls to 200 remaining same the price
of two goods.

f) What happens to the budget line if the price of
apple rises to 100 but income and price of orange
are remaining constant ? Draw a new budget line.

36. Complete the table and draw the SMC, SAC and
AVC curves in a Single Graph.

31 )@@ 33 WHOWYESS G213 ABODEBIBJo PHEN6I)
AN’ QOMEONED . BIGRIAMIMo @6 MBS nllo.
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31. ®13@mo AAVE@MIM 11T BB MVNIaIMo ol
QW] e19Bo BMFAM . aBODIOBNWIEM” a @6 &H1SACIVE
SHEMBONHF NVONEUAHD U

32. am0Omo AWlmoadaw” AD 100+ 0.75Y

a) V@A AUBAIMo BHEMBNIBBE:.

b) quiorEEM §alelnl’ 100 @3 Mlan” 150 @R
0I3RU12J0@3. MVADLING CITBAINORIOLI MIQo &he
BB

33. @Wld AWlaoada;, GRWd: @JBIMo af)MIAUWES
@RYUWo AWDWIATHAF Ma0IVWEODINS AllUET:0]
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34 @ 36 NHOWYSBS 621934 RO BIEJ0 PN
MAOTIM’ DOMEHNED M. BIGRIATIMWo af)g MIBAB allao.
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34.

a) HBOOD @RYSYANO D@3 [0BMo HEMANIBBANG)]
88 @3] O1MIQo Halelol” @l aluos]dhal
B3,

b) oRyO®” cGHUA MYallHWIW] HROOD BRYEYANO
9@3a]23Mo (GDP) 9a1600wo836mI0ud BN’ Q102
QM a IG1NIDHUB aBO®EI00

35. MW @Ra(l8o B006@jo &F1BHNIND BRYWAO1HBM.
@AIZHS AIGBROMo 400. AR [IS160] allel 80/ @16,
8006m(1603 aflel 50/ &1eel @RYEM. MM AIQWOS @BS]
aUOIM O 13

a) MINRG” HOLIB IO D.

b) miRQ” ©HLIM MO0 af)ED .

) QLI AIBAIMAYo §2ILINIF] 2|03 YWY ag)@
&6 @Yalud &¥lan0?

d) mimg’ oeeim1end aldlal’ «g@woem™?

€) @RAIBOS QIWBAOMo 200 BRYWT B:06MIM3 MNIRY”
OOLIMIM” af) D) TVoBANIB0 oMW MIRY” HOHLIN
QIO D>

f) @Rqflgloag aflel 100 G pwdsMM®sleje 80
eofloag afleige aImBasmaje TULlEM0W] DSBHWI
M08 MIRY HHLINIM” af)am” AVoRBB0?

36. algld oJ@om1wIss1 SMC, SAC & AVC aganlaies
WRWo QIO

Units | TFC | TVC | TC | SMC | SAC | AVC

Units | TFC | TVC | TC | SMC | SAC | AVC

0 100 0 100

0 100 0 100

1 100 100 | 200

1 100 100 | 200

2 100 150 | 250

2 100 150 | 250

3 100 | 350 | 450

3 100 350 | 450

4 100 | 400 | 500

4 100 | 400 | 500

5 100 | 650 [ 750

5 100 650 750

6 100 | 1100 | 1200

6 100 | 1100 | 1200




